Environmental ———EPD

Product
Declaration

In accordance with ISO 14025:2006 and EN 15804:2012+A2:2019/AC:2021 for:

Burnt Wood fom
Yakiwood UAB

YAKINCD

Programme: The International EPD® System, www.environdec.com

Programme operator: EPD International AB

EPD registration number: S-P-10564

Publication date: 2023-09-26

Valid until: 2028-09-25
An EPD should provide current information and may be updated if conditions change. The stated
validity is therefore subject to the continued registration and publication at www.environdec.com



http://www.environdec.com/

YAKIWOOD —EPD

General information
Programme information

Programme: The International EPD® System
EPD International AB
Box 210 60

Address: SE-100 31 Stockholm
Sweden

Website: www.environdec.com

E-mail: info@environdec.com

Accountabilities for PCR, LCA and independent, third-party verification

Product Category Rules (PCR)

CEN standard EN 15804 serves as the Core Product Category Rules (PCR)

Product Category Rules (PCR): PCR 2019:14 Construction products (EN 15804:A2) (1.3.1) and UN
CPC 316 — Builders' joinery and carpentry of wood

PCR review was conducted by: IVL Swedish Environmental Research Institute Secretariat of the
International EPD® System

Life Cycle Assessment (LCA)

LCA accountability: Dr. Ing. Kaspars Zudrags BM Certification

Third-party verification

Independent third-party verification of the declaration and data, according to ISO 14025:2006, via:
EPD verification by individual verifier
Third-party verifier: Prof. Vladimir Ko¢i, PhD, LCA Studio, Czech Republic

Approved by: The International EPD® System

Procedure for follow-up of data during EPD validity involves third party verifier:

] Yes No

The EPD owner has the sole ownership, liability, and responsibility for the EPD.

EPDs within the same product category but registered in different EPD programmes, or not compliant
with EN 15804, may not be comparable. For two EPDs to be comparable, they must be based on the
same PCR (including the same version number) or be based on fully-aligned PCRs or versions of PCRs;
cover products with identical functions, technical performances and use (e.g. identical
declared/functional units); have equivalent system boundaries and descriptions of data; apply equivalent
data quality requirements, methods of data collection, and allocation methods; apply identical cut-off
rules and impact assessment methods (including the same version of characterisation factors); have
equivalent content declarations; and be valid at the time of comparison. For further information about
comparability, see EN 15804 and ISO 14025.

PAGE 2/11


http://www.environdec.com/

YAKIWOOD —EPD

Company information

Owner of the EPD: Yakiwood UAB

Contact: info@yakiwood.eu

Description of the organisation: We are experts in the preparation of burnt wood, with many years of
successful experience in preparing wood for facades, terraces, fences and interiors, and we guarantee
a high quality and long-lasting result. Our aim is to help you create a cosy and sustainable environment
using a natural, time-tested woodworking method. More information www.yakiwood.eu

Product-related or management system-related certifications: FSC standard ESC-STD-40-004
certificate code: FSC-COC-009447 trademark license code FSC-C183327.

Name and location of production site(s): Neries g. 4, Kauno raj., Lithuania

Product information

Product name: Burnt wood.

Product description: Production defect free, ready profiled boards burnt, brushed and oiled. moisture is
about 15%.

D DELIXX] 4
!i, B ag| N B

5 ; ] 25 i
UN CPC code: 316 — Builders' joinery and carpentry of wood
Geographical scope: Europe

LCA information

Functional unit / declared unit: 1m? of burnt wood (average density 470kg/m3).

Reference service life: 20 years.

Time representativeness: Data for calculation were collected by Yakiwood UAB and cover period of 12
months 2022.01.01-2022.12.31.

Database(s) and LCA software used: One Click LCA, Ecoinvent 3.8.

Description of system boundaries: Cradle to gate with modules C1-C4 and module D (A1-A3 + C + D)

PAGE 3/11



YAKIWOOD

System diagram:

Emissions

Charing of Wood

v

Brushing

v

Finishing

v

Packaging

TRANSPORT

USE

Deconstruction |

Transport

Waste processing |

Incertation |

More information: Inputs and outputs are recorded. Totally 97,8% of all inputs are included in the
calculation excluding just ancillary materials. The volume of excluded materials is in line of the standard.
The ancillary materials have been cut-off due to insufficient and minor influence of data. The following
key assumptions and estimates for LCA modelling have been used: The EURO 5 (50%) and EURO 6
(50%) class trucks have been considered as used for input raw material transportation.

Modulus C1 Deconstruction is considered as insufficient and minor influence of data.

Modulus C2 Transport to the incarnation plant is considered as 100km.

Modulus D The wood is assumed that 90% is collected of the wood is treated in incarnation plant.

PAGE 4/11




YAKIWOOD —EPD

Modules declared, geographical scope, share of specific data (in GWP-GHG results) and data
variation (in GWP-GHG results):

Construction Resource
Product stage process Use stage End of life stage recovery
stage stage
o)
S £
c () = [&]
il 0 @ © Py
> T 2 2| € @
o = 5| 2 () o
> ] () — c = -l
%) c = c ® o ) [}
© £ c Q c [} it = o o) o
= = o 1S} [} I o} ol S o o
9 +— =) +— E= = e - c c = +— o (0]
= - [5) ® = j = — —
@ S & S = c gl 28|88 2|g8g|9|d s
El 2| s | 2| 3 Sls|2|€|8|8|s5|8|g|8 $ =
= = c = c o | £ o | al 2 o o Q c 0 o 3 0
T o S © o 0 < [} o) © o | 9| o © T | @9 5
14 = = = O |o|lsSs|lelelae|ldlololE]l21Dd X s
Module Al A2 A3 A4 A5 BlL | B2 | B3 | B4 |B5 | B6 | B7 |Cl|C2|C3 | c4 D
Modules
declared X X X ND ND | ND | ND | ND| ND | ND | ND | ND | X X X X
Geography Europe - - - - - - - - - - - - - -
Specific )
data used > 80% - - - - - : N N : : - - - -
Variation —
products 3% - - - - - : N N : : - - - -
Variation —
sites - - - - - - - - - - - - - - -

X —included, ND — Module Not Declared.

PAGE 5/11




YAKIWOOD

“==EPD

Content information

Weight,
Product components kg 9

Wood 446.5

Wood Charcoal 235

Waterbase oil 8

TOTAL 478

. . Weight,
Packaging materials kg 9

Cardboard 0.02

Packaging PP film 0.52

Slats wooden 1.30

TOTAL 1.84

No dangerous substances from the candidate list of SVHC for Authorisation

Post-consumer material,
weight-%

Weight-% (versus the
product)

PAGE 6/11

Biogenic material,
weight-% and kg C/kg

100%, 0.45 C/kg

100%

Weight biogenic
carbon, kg C/kg

100%, 0.45 C/kg



YAKIWOOD —EPD

Results of the environmental performance indicators

Mandatory impact category indicators according to EN 15804:2012+A2:2019

Indicator Unit A1-A3 C1 Cc2 C3 C4 D
GWP-total kg CO; eq. -6.59E+02 0.00E+00 4.49E+00 3.57E+00 -6.45E+01 -3.28E+02
GWP-fossil kg CO; eq. 1.17E+02 0.00E+00 4.49E+00 3.54E+00 7.70E-01 4.45E+03

GWP-biogenic kg CO; eq. -7.87E+02 0.00E+00 1.70E-03 2.20E-02 -6.53E+01 3.58E+07
GWP-luluc kg CO; eq. 1.07E+01 0.00E+00 1.70E-03 8.00E-03 7.50E-04 4.11E+02
ODP kg (;I;C 1 3.86E-05 0.00E+00 1.00E-06 1.80E-07 2.20E-07 1.59E-01

AP mol H* eq. 1.21E+00 0.00E+00 1.90E-02 1.90E-02 6.80E-03 1.23E+05
EP-freshwater kg P eq. 1.30E-02 0.00E+00 3.70E-05 3.60E-04 4.20E-03 2.13E+05
EP-marine kg N eq. 2.52E-01 0.00E+00 5.60E-03 2.70E-03 3.50E-03 3.92E-01
EP-terrestrial mol N eq. 2.44E+00 0.00E+00 6.20E-02 3.00E-02 2.30E-02 -3.47E+00
POCP kg NethOC 9.35E-01 0.00E+00 2.00E-02 8.50E-03 7.80E-03 1.29E+01
ADP-minerals&metals* kg Sb eq. 5.54E-04 0.00E+00 1.10E-05 9.80E-06 2.80E-06 5.13E-03
ADP-fossil* MJ 3.04E+03 0.00E+00 6.74E+01 7.36E+01 1.66E+01 4.84E+04
WDP* m3 6.33E+01 0.00E+00 3.00E-01 1.98E+00 2.70E-01 -1.18E+05

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global Warming Potential biogenic; GWP-
luluc = Global Warming Potential land use and land use change; ODP = Depletion potential of the stratospheric
ozone layer; AP = Acidification potential, Accumulated Exceedance; EP-freshwater = Eutrophication potential,
fraction of nutrients reaching freshwater end compartment; EP-marine = Eutrophication potential, fraction of
nutrients reaching marine end compartment; EP-terrestrial = Eutrophication potential, Accumulated Exceedance;
POCP = Formation potential of tropospheric ozone; ADP-minerals&metals = Abiotic depletion potential for non-
fossil resources; ADP-fossil = Abiotic depletion for fossil resources potential; WDP = Water (user) deprivation
potential, deprivation-weighted water consumption

Acronyms

* Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are
high or as there is limited experience with the indicator.

PAGE 7/11




YAKIWOOD —EPD

Additional mandatory and voluntary impact category indicators

Results per functional or declared unit
Indicator Unit Al1l-A3 C1 Cc2 C3 C4 D

GWP-GHG* kg CO; eq. 1.17E+02 0.00E+00 4.49E+00 3.54E+00 7.70E-01 -3.26E+02

Resource use indicators

Indicator Unit A1-A3 C1 Cc2 C3 C4 D
PERE MJ 9.56E+03 0.00E+00 7.60E-01 6.61E+03 3.40E-01 2.28E+11
PERM MJ 5.91E+03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
PERT MJ 1.55E+04 0.00E+00 7.60E-01 6.61E+03 3.40E-01 2.66E+08

PENRE MJ 1.68E+03 0.00E+00 6.74E+01 7.35E+01 1.66E+01 5.54E+07
PENRM MJ 1.42E+03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
PENRT MJ 3.10E+03 0.00E+00 6.74E+01 7.35E+01 1.66E+01 1.74E+07
SM kg 1.94E+00 0.00E+00 1.90E-02 2.80E-02 8.00E-03 0.00E+00
RSF MJ 4.03E-02 0.00E+00 1.90E-04 4.50E-05 2.40E-04 0.00E+00
NRSF MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
FwW m® 1.43E+00 0.00E+00 8.70E-03 6.20E-02 1.50E-02 -8.07E-01

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of
renewable primary energy resources used as raw materials; PERT = Total use of renewable primary energy resources; PENRE =
Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials; PENRM = Use of
non-renewable primary energy resources used as raw materials; PENRT = Total use of non-renewable primary energy re-sources;
SM = Use of secondary material; RSF = Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW =
Use of net fresh water

Acronyms

1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon
stored in the product. As such, the indicator is identical to GWP-total except that the CF for biogenic CO; is set to zero.

PAGE 8/11




YAKIWOOD —EPD

Waste indicators

Indicator Unit A1-A3 C1 c2 C3 C4 D

Hazardous

. kg 1.03E+01 0.00E+00 8.90E-02 0.00E+00 1.30E-02 -2.51E+01
waste disposed

Non-hazardous

- kg 2.77E+02 0.00E+00 1.47E+00 0.00E+00 6.95E+01 2.85E+03
waste disposed

Radioactive

. kg 1.89E-02 0.00E+00 4.50E-04 0.00E+00 2.30E-05 1.41E-02
waste disposed

Output flow indicators

Indicator Unit Al1l-A3 C1 Cc2 C3 Cc4 D
Components 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
for re-use
N:ggéi'ng’r kg 5,20E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00

Materials for
energy kg 0,00E+00 0,00E+00 0,00E+00 4,30E+02 0,00E+00 -4,30E+02
recovery

Exported
energy, MJ 0,00E+00 0,00E+00 0,00E+00 6,53E+02 0,00E+00 6,53E+02
electricity

Exported
energy, MJ 0,00E+00 0,00E+00 0,00E+00 3,68E+03 0,00E+00 3,68E+03
thermal

PAGE 9/11




YAKIWOOD —EPD

References

General Programme Instructions of the International EPD® System. Version 4.0.

PCR 2019:14 Construction products (EN 15804:A2) (1.3.1)

Yakiwood LCA background report 11.09.2023

ISO 14025:2010 Environmental labels and declarations — Type Il environmental declarations. Principles
and procedures.

ISO 14040:2006 Environmental management. Life cycle assessment. Principles and frameworks.

ISO 14044:2006 Environmental management. Life cycle assessment. Requirements and guidelines.
EN 15804:2012+A2:2019 Sustainability of construction works - Environmental product declarations -
Core rules for the product category of construction products

EN 16449:2014 Wood and wood-based products - Calculation of the biogenic carbon content of wood
and conversion to carbon dioxide

PAGE 10/11



“==EPD"

www.environdec.com



